Giai bai tap 59 trang 32 SGK toan dai s 16p 9 tap 1
D¢ bai:

Rt gon cac biéu thic sau (a > 0, b > 0):

a) 5,/a — 4bv/25a% + 5a+/16ab? — 2,/9a;
b) 5av/64ab® — /3 - v12a3b® + 2ab/9ab — 5bv/81a3b.

a) Ta co:

5,/a — 4bv/25a® + 5av/16ab? — 2v/9a

— 5/a—4bV/5%.a%. a+5aV/4%. b*.a —2V/3%.a
= 5./a — 4by/(5a)%. a + 5a/(4b)%.a — 21/3*.a
= 5,/a — 4b.5a,/.a + 5a.4b,/a — 2.3, /a

= 5,/a — 20ab,/a + 20ab,/a — 6,/a
= (5,/a — 6,/a) + (—20ab,/a + 20ab,/a)

~ (5-6)ya=—a

b) Ta co:
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5a+/64ab® — /3. /12a%b® + 2aby/9ab — 5bv/81a3b
= 5aV/ 8. 6% ab— /3. \/22.3. (ab)?. ab
+2ab\/3%. ab — 5bv/9%. a2. ab

= 5a1/(8b)2. ab — /3. /(2ab)2.3. ab + 2abv/32. ab
—5by/(9a)2. ab

= 5a.8bv/ab — v/3.2v/3aby/ab + 2ab.3+/ab
—5b.9a+/ab

= 40ab+/ab — 2.3aby/ab + 6aby/ab — 45ab\/ab

= 40aby/ab — 6aby/ab + 6aby/ab — 45ab+/ab

= 40ab\/ab — 45ab\/ab

= (40 — 45)\/ab

= —5aby/ab.

TOAN LGP 9 — HOC TAP-LOP 9



https://doctailieu.com/giai-bai-tap-59-trang-32-dai-so-lop-9-tap-1

